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Which of the following are key VPN technologies?
(Select all that apply)

Response:
A. GRE
B. FTP
C.L2TP
D. SMTP
E. IPSec
F. HTTP
Answer: A,C,E

Firewall throughput is a metric that measures:
Response:
A. The amount of data a firewall can process per unit of time
B. The time taken to establish a connection
C. The number of firewall rules in place
D. The size of the firewall's log files

Answer: A
The principle and operation patterns of provide fault tolerance by ensuring seamless
operation in case of a failure in one firewall device.
Response:
A. Load balancing
B. Port forwarding
C. Intrusion Detection System (IDS)
D. Dual hot-standby

Answer: D
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How are ACLs (Access Control Lists) categorized in packet filtering technology?
Response:

A. By source IP address

B. By packet type

C. By matching sequence

D. By source and destination ports

Answer: C

In GRE VPN, what is the purpose of the GRE packaging format?
(Select all that apply)
Response:

A. To encapsulate data packets
B. To encrypt data

C. To compress data

D. To establish tunnels

Answer: A,D

Which of the following are elements of AAA certification approaches?
(Select all that apply)
Response:

A. RADIUS certification

B. Firewall performance metrics
C. HWTACACS certification

D. LDAP configuration

Answer: A,C
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How can user identity discovery be achieved in Application Control Technology?
(Select all that apply)
Response:

A. Anonymous user login

B. Local user authentication

C. Verification through WeChat
D. Facial recognition

Answer: B,C

Firewall user management can be domain-based, allowing different domains to have their own user
databases and authentication rules. This approach is commonly used in environments.
Response:

A. Local network

B. Home automation
C. ISP domain-based
D. Social media

Answer: C

Vigit us at: https://www.examsempir e.com/gb0-510



Thank You for Trying Our Product

Special 16 USD Discount Coupon: NSZUBG3X

Email: support@examsempire.com

Check our Customer Testimonials and ratings
available on every product page.

Visit our website.

https://examsempire.com/




